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Challenge 3: 
English: 
English Today I would like you to read 2 poems with simple repeating patterns.
 1. Wings by Pie Corbett
 2. See me Walking by Clive Webster Can you spot the patterns in the poems?

onto a piece of paper. 
On the way to school I saw… 

On the way to school I saw children running along the pavement. 
On the way to school I saw houses stood still
On the way to school I saw cars zooming past
On the way to school I saw friends playing tag
On the way to school I saw birds flying in the sky
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Maths:
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Science:
Science – From Mrs Wiskow Challenge 1 – Investigating Seeds 
 Dear Year 2s, I have heard from Miss Moss that you are all trying to grow broad beans at home. How exciting! For your first task I would like you to draw a labelled diagram of your broad bean plant clearly showing the different parts. 
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Measure your plant and write on your picture how tall it is. Write the date on your picture.
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Find a half © Use counters.

a) Can you share 10 counters
Y YES

into 2 equal groups?

b) Can you share 11 counters
o Here are 6 counters.

a) Share the counters into 2 equal groups.

NO

into 2 equal groups?

@)

Talk about it with a partner.

Group 1 Group 2 o Mo and Eva have 12 tennis balls.

Share the tennis balls equally between
b) Complete the sentences. Mo and Eva.

There are 6 counters.

The counters are shared equally between

000\ /000
There are | 3 | counters in each group. e e e e e e

%of 6is equal to| 3
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o Find 5 of each number. o Here are half of Annie’s sweets.

Use the arrays to help you. 0@ ... 0@ @9 (1 4

DR XY XY X X 1 How many sweets does Annie
(XXX X J zof10=) 5 have in total? 12

K@

Compare answers with a partner.

1
sof16=| 8 1
e Colour 2 of each shape.
Use the shapes to help you complete the
number sentences.
1
jof20=| 10 a)
dof| 24 || 12
o Ron has run 20 m. 2 of =
[start] b)
1
Jof| 18 |=| 9
Rosie has run half that distance. o Complete the number sentences.
a) Draw an arrow on the running track to Q
show where Rosie is. %of 20 |=10 %of 14 |=7

a) How far has Rosie run?
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